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 1. This Booklet contains 24 pages and one unattached OMR Answer Sheet kept inside it. As soon as the booklet is distributed,
Examinees are directed to confirm the number of pages, legibility of printing etc. They must also confirm that the Bar Code is printed
on the OMR Answer Sheet. No complain will be entertained for exchange of booklet later than 10 minutes after distribution.
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 2. Roll No. should be written in digits as well as in words in the appropriate Box provided at serial-3 above on the upper portion of the
front cover page of this Test Booklet as per the example given below :
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 3.The candidate will first open GREEN Colour Seal only and read the complete instructions carefully as also see the instructions on
the back side and fill the details in the Question Paper and OMR Answer Sheet. Candidates will next open BLUE Colour Seal when
asked to do so. Before answering please ensure that Question Booklet has 24 pages and 100 questions. Immediately report on error
and ask for change.
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4. In the Test Booklet, there are 100 questions. Thus 100 questions in all are to be answered.
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5. Each Question is of 1 mark, which will be awarded for the correct answer. 0.5 mark will be deducted for

each wrong answer. More than one Answer indicated against a Question will be declared as incorrect

Answer.
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6. If there is any difference between English version and the corresponding translated version in Hindi of

any question, then the English version will be treated as authentic.
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7. Use of Calculator/Slide Rule/Log Table/Graph Paper/Charts or any electronic gadget eg. Mobile Phone

etc. is not allowed.
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8. Any candidate attempting or using unfair means or copying or detaching any page of question booklet

or marking the answer on the question booklet will be expelled and his candidature will be rejected.
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9. Candidates must also follow the instructions, which may be given by the Centre Superintendent from

time to time.
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10. ADDITIONAL BOOKLET/ANSWER SHEET WILL NOT BE PROVIDED UNDER ANY CIRCUMSTANCES

OTHER THAN THAT MENTIONED IN 1 ABOVE.
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11. Candidates on completion of examination handover the OMR answer sheet to the invigilator. The invigilator
shall separate the two sheets and handover the duplicate copy (orange) which is mandatory to preserve

till counseling is over. Candidates are allowed to carry the question booklet allotted to them.
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(B) Process for Filling up OMR Answer-Sheet ����$%&$���$�'(����)
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1. ANSWER SHEET IS OF OMR TYPE TO BE READ BY COMPUTER SCANNER.
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2. Roll No., Examination Centre and its Code and Test Booklet No. should be written  on the Answer
Sheet in CAPITAL LETTERS. The Digits should be written in appropriate boxes in Blue/Black ball point
pen and the circles corresponding to the digits be darkened with Blue/Black ball point pen only.
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Example : If Roll No. is 179682 and the Question Booklet No. is 2439, then
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1 1 1 1 1

2 2 2 2 2
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2 4 3 9

1 1 1 1

2 2 2
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7 7 7 7
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9 9 9

0 0 0 0

3. On completion of examination handover the answer sheet to the Invigilator. The Invigilator shall separate
the two sheets and handover the duplicate copy (orange) to you.
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4. The questions are multiple choice type. Each question is provided with a number of choices of Answers,
out of which ONLY ONE is MOST APPROPRIATE. The candidate must darken the appropriate circle
provided in front of the question number, using Blue/Black ball point pen only.
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Example : If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question
no. 7 as shown below :
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Q. No. 1 A B C D

Q. No. 2 A B C D

.. .. .. ..

.. .. .. ..

Q. No. 7 A B C D
                          Continued on Page No. 24
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General Studies

1. Who was the first Prime Minister of India ?

(A) Atal Bihari Vajpayee (B) Jawaharlal Nehru

(C) Inder Kumar Gujral (D) Chandra Shekar

2. Which gas is necessary for Photosynthesis to take place ?

(A) Oxygen (B) Hydrogen

(C) Nitrogen (D) Carbon di-oxide

3. The only Mammal that can fly

(A) Bat (B) Peacock (C) Penguin (D) Ostrich

4. When milk is converted into curd the sour taste is due to

(A) Lactic acid (B) Citric acid

(C) Tartaric acid (D) Acetic acid

5. The purest form of water

(A) Surface water (B) Well water (C) Rain water (D) Mineral water

6. Proteins are not found in

(A) Eggs (B) Meat (C) Pulses (D) Rice

7. Oranges contain Vitamin

(A) A (B) C (C) B (D) D

8. __________ is not a primary colour.

(A) Red (B) Blue (C) Green (D) Yellow

9. Quit  India Movement was launched in the year

(A) 1938 (B) 1943 (C) 1942 (D) 1935

10. Blue Mountains are ___________

(A) Himalayas (B) Nilgiris (C) Vindhyas (D) Aravalli

11. In which field did C. V. Raman win the Nobel Prize ?

(A) Biology (B) Physics (C) Chemistry (D) Mathematics
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12. What is the abbreviation IST ?

(A) Indian Standard Time (B) Indian System Time

(C) Indian Standard Trunk (D) Indian System Trunk

13. Which one of these is not an athlete ?

(A) Milkha Singh (B) P. T. Usha

(C) Leander Paes (D) Norman Gilbert Pritchard

14. Which liquid is known as the universal solvent ?

(A) Petrol (B) Alcohol (C) Water (D) Liquid hydrogen

15. Which Indian state has the highest population density ?

(A) Uttar Pradesh (B) Bihar (C) West Bengal (D) Maharashtra

16. First 5 year plan was based on which model ?

(A) P. C. Mahalanobis Model (B) Harrod Domar Model

(C) R. K. Shanmukhan Chetty Model (D) Malthusian Growth Model

17. In which country Harappa is situated ?

(A) Pakistan (B) Afghanistan (C) Nepal (D) India

18. Which of the following is used in Pencil ?

(A) Graphite (B) Charcoal (C) Silicon (D) Phosphorus

19. When was Right to Information Act  passed ?

(A) 2009 (B) 2005 (C) 2002 (D) 2007

20. Which of the following is not associated with primary sector ?

(A) agriculture (B) forestry (C) mining (D) banking

21. When is International Worker’s Day ?

(A) 15 April (B) 1 May

(C) 12 December (D) 1 August

22. Which among the following states has the highest literacy rate ?

(A) Kerala (B) Andhra Pradesh

(C) Karnataka (D) Maharashtra
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23. Non-Stick cooking utensils are coated with a

(A) Teflon (B) Black Paint (C) P.V.C. (D) Polystyrine

24. _______ is very famous of Darjeeling.

(A) Tea (B) Clothes (C) Coffee (D) Flowers

25. Asiatic lions are found in

(A) Gir forest in Gujarat (B) Jim Corbett in Uttarakhand

(C) Kaziranga in Assam (D) Sariska in Rajasthan

26. Rafael Nadal the Tennis player belongs to

(A) Italy (B) Spain (C) Germany (D) USA

27. Who is the Chairman of Infosys ?

(A) Nandan Nilekani (B) Ramdas Pai

(C) Narayan Murthy (D) Azeem Premji

28. Which of the following is not a part of the parliament of India ?

(A) Lok Sabha (B) Rajya Sabha

(C) Supreme Court (D) The President

29. The state of Jharkhand came into existence in the year

(A) 2000 (B) 2008 (C) 2002 (D) 1998

30. The book of Parsis is

(A) Torah (B) Zend Avesta (C) Bible (D) Gita

31. ‘Microsoft’ was started by

(A) Bill Gates (B) Bill Steves (C) Bill Clinton (D) Bill Jones

32. ‘Gitanjali’ is a book written by

(A) Sarojini Naidu (B) Jawaharlal Nehru

(C) Rabindranath Tagore (D) Motilal Nehru

33. Guru Gobind Singh was

(A) The 10th Guru of the Sikhs (B) Author of Dasam Granth

(C) Founder of Khalsa (D) All the above
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34. Filaria is caused by

(A) Bacteria (B) Protozoa (C) Mosquito (D) Virus

35. Who was the first Indian Chief of Army Staff of the Indian Army ?

(A) Gen. K. M. Cariappa (B) Gen. Maharaja Rajendra Singhji

(C) Vice-Admiral R. D. Katari (D) None of the above

36. Air is a/an

(A) Compound (B) Element (C) Electrolyte (D) Mixture

37. Durand Cup is associated with the game of

(A) Cricket (B) Hockey (C) Football (D) Volleyball

38. Milkha Singh stood ___________ in 1960 Olympics in Athletics.

(A) Fourth in 400 m final (B) Second in 400 m final

(C) Third in 400 m final (D) Seventh in 800 m final

39. Medha Patkar is associated with

(A) Tehri Project (B) Sardar Sarovar Project

(C) Enron Project (D) Dhabhol Project

40. Kathakali is a famous dance of

(A) Kerala (B) Tamil Nadu

(C) Karnataka (D)  Andhra Pradesh

41. Headquarters of UNO is situated at

(A) New York, USA (B) Geneva

(C) Hague (Netherlands) (D) Paris

42. For seeing objects at the surface of water from a submarine under water, the
instrument used is

(A) Kaleidoscope (B) Spectroscope (C) Periscope (D) Telescope

43. To which king belongs the Lion Capital at Sarnath ?

(A) Kaniskha (B) Ashok (C) Harsha (D) Chandragupta

44. For galvanizing iron which of the following metals is used ?

(A) Aluminium (B) Lead (C) Copper (D) Zinc

St
ud
yS
it
e.
or
g

StudySite.orgStudySite.org StudySite.orgStudySite.org

StudySite.orgStudySite.orgStudySite.orgStudySite.org

www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org


FN -11-

�������	� KARHSIM

34. U�
�����+
�����������
�J�%
��
�%*�c

(A) ?* B$���+
 (B) .
�B$
�)
��
 (C) �g4$� (D) ,
���

35. <
���+����
���
��%�
�<M��W���
N+	���
*��0
�c

(A) )�����������������+_�
 (B) )�����%
�
)��
)�GR�^�%�)�

(C) ,
�5���@$������
���@$�����B$
�� (D) ����������
��5��%C

36. %,


(A) +
*�D���%* (B) �/,�%* (C) ��� BV$
��
�B$�%* (D) ��lJ�%*

37. @M$��@$����������L������)�X@$
�%a�
�%*�c

(A) ��F����B$ (B) %
I��- (C) UM�B$?
I� (D) ,
I��?
I�

38. ��bL
�^�%�1960��
I��9���������������������������
0
�����0�'(

(A) 400��������2
*0
�
0
� (B) 400��������8M��
�
0
�

(C) 400������������
�
0
� (D) 800���������
�,
;�
0
�

39. ��H
��
B$��������������������+
�)�
������
0�)�X@$��%a�5�%*�c

(A) B$�%������+
�)�
 (B) ��8
����
�,�����+
�)�


(C) ���
I�����+
�)�
 (D) 8
<
������+
�)�


40. ��0������!/+�6*���������
e+���-�%*�c

(A) ����� (B) �����
@M$ (C) ���
5B$�� (D) �
�HF�.8�6

41. +M�����
�����
���3+
�+���%
;��
0��%*�c

(A) G+M+
I�5�P�+M������ (B) )���,
 (C) %�D�\��8��&@:$�] (D) �����

42. �
���������2��������@�$K?������
�����
���%����,
���
����
��8�L�����������������
H����
�.+
�D����+

)
�
�%*�c

(A) �����@$
�
��
�� (B) 
�� BV$
�
��
�� (C) ����
��
�� (D) B$���
��
��

43. �
��
0�����
0��^�%�6�Q5�������
)
������?��H��%*�c

(A) ����"�� (B) �6
��� (C) %Q5 (D) 2GRD�_�

44. �
�%����
��D*�,�
)�\����5]��������������������H
�����
�.+
�D�%
��
�%*�c

(A) �b+�����+� (B) ��@$ (C) �
�?
 (D) ^)���\)
�
]

St
ud
yS
it
e.
or
g

StudySite.orgStudySite.org StudySite.orgStudySite.org

StudySite.orgStudySite.orgStudySite.orgStudySite.org

www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org


FN -12-

KARHSIM �������	�

45. India’s first satellite is named after

(A) Aryabhatta (B) Baskara I (C) Baskara II (D) Albert Einstein

46. India’s first atomic reactor was

(A) Zenina (B) Dhruva (C) Apsara (D) Kamini

47. In which season do we need more fat ?

(A) Rainy season (B) Spring (C) Winter (D) Summer

48. India became a member of UN in

(A) 1945 (B) 1947 (C) 1959 (D) 1960

49. The number of nominated members in Rajya Sabha are

(A) 10 (B) 11 (C) 12 (D) 13

50. Joule is the unit of

(A) Temperature (B) Pressure (C) Energy (D) Heat

51. The members of Rajya Sabha hold office for a tenure of

(A) 4 years (B) 5 years (C) 6 years (D) 7 years

52. Which is a green house gas ?

(A) Oxygen (B) Methane

(C) Nitrogen (D) None of the above

53. Playground where cricket is played is called

(A) Field (B) Grass (C) Pitch (D) Stadium

54. What percent of Earth’s surface is covered by water ?

(A) 29% (B) 71% (C) 72% (D) 27%

55. Study of plants is called

(A) Biology (B) Zoology (C) Botany (D) Biotechnology

56. Preparation of food by green plants is called

(A) Synthesis (B) Autotrophs

(C) Food Preparation (D) Photosynthesis
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57. The national song “Vande Mataram” was composed by

(A) Bankim Chandra Chatterjee (B) Muhammad Iqbal

(C) Rabindranath Tagore (D) None of the above

58. Respiratory system of human consists of

(A) Saliva, Stomach (B) Nose, Lungs

(C) Chyme, Amylase (D) Saliva, Bile

59. Sriharikota, the Indian Satellite Launching Centre is in

(A) Andhra Pradesh (B) Tamil Nadu

(C) Kerala (D)  Karnataka

60. In which state is the Nathu La Pass situated?.

(A) Arunachal Pradesh (B) Uttarakhand

(C) Assam (D) Sikkim

61. Zoji La Pass connects

(A) Nepal and Tibet (B) Leh and Srinagar

(C) Leh and Kargil (D) Kashmir and Tibet

62. What is “Jhum”?

(A) A type of cultivation (B) A tribe

(C) A river valley (D) A folk dance

63. When is World Water Day Celebrated?

(A) March 22nd (B) July 21st (C) July 22nd (D)  March 21st

64. The Non-Cooperation Movement started in

(A) 1870 (B) 1931 (C) 1920 (D) 1942

65. The sphere which consists of gases and water vapour is called

(A) Lithosphere (B) Atmosphere (C) Ecosphere (D) Biosphere

66. Who constructed the Sanchi Stupa?

(A) Chandragupta (B) Mahavira

(C) Gautam Buddha (D) Ashoka

67. Manu Smriti deals with the subject of

(A) Economics (B) Politics (C)  Law (D) Art
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68. Which one of the following is not a sect of Buddhism ?

(A) Mahayana       (B) Digambar (C) Hinayana (D) Thervad

69. The International Court of Justice has its headquarters in

(A) The Hague (B)  London  (C) New York (D) Washington

70. Who is known as Father of Ayurveda?

(A) Aryabhatta (B) Chanakya (C) Varahamihira (D) Charaka

71. The Secretary General of the UNO is

(A) Kofi Annan (B) Ban Ki-Moon

(C) Kurt Waldheim (D) Boutros Boutros-Ghali

72. World Trade Organization was earlier called

(A)  OIC (B)  GATT (C) OCC (D) G-77

73. In which of district of Karnataka is gold mine located ?

(A) Kolar (B)  Bellary (C) Mysore (D) Tumkur

74. Fats and oils are

(A) carbohydrates (B) proteins

(C) lipids (D) none of the above

75. The disease caused by virus is

(A) Malaria (B) Tuberculosis (C) Smallpox (D) Diarrhoea

76. The richest source of Vitamin C is

(A) Amla (B) Papaya (C) Grapes (D) Guava

77. Ecology studies

(A) Cell formation

(B) Relation between organisms and their  environment

(C) Relation between living and non-living things

(D) None of the above

78. Which state is a major producer of saffron?

(A) Kerala (B) Punjab

(C) Gujarat (D) Jammu and Kashmir
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79. Which place in India does not have a nuclear power plant ?

(A) Rawatbhata (B) Silchar (C) Narora (D) Tarapore

80. When coal burns

(A) Chemical energy is converted to heat energy

(B) Heat energy is created

(C) Chemical energy is destroyed

(D) None of the above

81. The normal temperature of the human body is

(A) 86.9 °F (B) 68.9 °F (C) 98.6 °F (D) 69.8 °F

82. In the relationship E=mc2, the symbol m represents

(A) mass (B) molecules

(C) momentum (D) none of the above

83. The primary plant nutrients are

(A) Phosphorus, nitrogen and calcium

(B) Magnesium, phosphorus and nitrogen

(C) Phosphorus, potassium and nitrogen

(D) None of the above

84. Which of these does not belong to liquids ?

(A) Water (B) Air (C) Oil (D) Honey

85. Alexander Fleming discovered

(A) Penicillin (B) X-Ray (C) Quinine (D) Streptomycin

86. Who gets Dronacharya Award ?

(A) Best Wrestler (B) Best Batsman

(C) Best Coach (D) Best Tennis Player

87. Which day has been declared as the National Voters Day in India ?

(A) January 5th (B) January 7th (C) January 20th (D) January 25th

88. The metal present in the hemoglobin is

(A) Iron (B) Calcium (C) Copper (D) Aluminum

89. A group of stars is called ____________

(A) System (B) Galaxy (C) Constellation (D) Patterns
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79. <
��������
*�����
0
��������
J��E�)
5���+����%C�%*�c

(A) �
,�<
B$
 (B) ���2� (C) ��
��
 (D) �
�
�
��

80. )?���
�+�
�)��


(A) �
�
+�����E�)
5��
��+�E�)
5����?8��)
���%* (B) %�B$�E�)
5��*8
�%
��
�%*

(C) �
�
+�����E�)
5���
���"B$������8+
�)
�
�%* (D) ���
� ����������
��5��%C

81. �
�,�6������
��
�
G+��
��
��%*

(A) 86.9 °F (B) 68.9 °F (C) 98.6 °F (D) 69.8 °F

82. E = mc2, ���m �2G%���
�.�����H/,�����
�%*

(A) ��M% (B) �J��
� (C) D�� (D) ���
� ����������
��5��%C

83. .
0�����,�
�����
�Q�����,�%*

(A) U�

U�
���P��
�BV$
�)���
*���*��b6+� (B) �*����6+�P�U�

U�
�����
*���
�BV$
�)�

(C) U�

U�
���P��
�B��6+���
*���
�BV$
�)� (D) ���
� ����������
��5��%C

84. ����������
*���
������8
05������?��H���%C�%*�c

(A) �
�� (B) ,
+� (C) ��� (D) 6%8

85. ��� h�@$��q��^�D���-�L
�)�%*

(A) ��������� (B) � ���� (C) ����*� (D) 
BV$�_B$
��
����

86. ���G%��R
�J
2
+5����
��
���8+
�)
�
�%*�c

(A) �,5l�"#$��%�,
� (B) �,5l�"#$�?b��?
)

(C) �,5l�"#$�.�6	�� (D) �,5l�"#$�B$������L�
$X@$$�

87. ������8��<
�������
"BV$�+���8
�
��8,������T������f
��Q�����+
�D+
�%*�c

(A) 5�)�,�� (B) 7�)�,�� (C) 20�)�,�� (D) 25�)�,��

88. %��
���
��?�����)
��H
����
*)M8�%*�,%�%*

(A) �
�%
 (B) �*��b6+� (C) �
�?
 (D) �b+M����+�

89. ���
�
����
�������M%���
����%
�)
�
�%*

(A) ��� (B) �
��
6D�D
 (C) �	� (D) .
T��
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90. Halley’s Comet appears once in ____________ years.

(A) 76 years (B) 67 years (C) 56 years (D)  65 years

91. The place of maximum rainfall in the world is

(A) Chirapunji (B) Shillong (C) Dispur (D) Mawsynran

92. Who of the following Presidents of India was born in Bihar ?

(A) Zakir Husain (B) Neelam Sanjeeva Reddy

(C) Rajendra Prasad (D) K. R. Narayanan

93. Pongal is a major festival of

(A) Tamil Nadu (B) Karnataka (C) Orissa (D) Kerala

94. The film which was given the Oscars 2013 Best Picture Award is

(A) Paperman (B) Argo (C) Life of Pi (D) Lincoln

95. Kisan Baburao, a social activist, is also known as

(A) Baba Amte (B) Ramdev Baba

(C) Vinobha Bhave (D) Anna Hazare

96. Where is the Bandipur National Park?

(A) Karnataka (B) Assam

(C) Andhra Pradesh (D) Orissa

97. Bihar Government prohibited the sale and manufacturing of all the ______ products
for next one year.

(A) Oilseeds (B) Tobacco (C) Meat (D) Cotton

98. Indian spacecraft  to Mars is named

(A) Chandrayaan (B) Mangalyaan

(C) Vayuyaan (D) None of the above

99. The Brand Ambassador for National Tobacco Control Campaign is

(A) Mahinder Singh Dhoni (B) Rahul Dravid

(C) Virat Kohli (D) None of the above

100. The next Chief of Air Staff of India from 31 December 2013 will be

(A) N. A. K. Browne (B) A. Raha

(C) P. V. Naik (D) S. P. Tyagi
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90. %*���HM����������������������,Q
m���������
���������?
���8L
�5�8��
�%*'(

(A) 76�,Q
m (B) 67�,Q
m (C) 56�,Q
m (D) 65�,Q
m

91. �,=,������H�����,Q
5�����
0
��%*

(A) �2�
���)� (B) �6�
�D (C) �8���� (D) �
�����
�

92. <
���������9����L���
"BV$���+
����������
*���?%
�����)G����+��0��c

(A) )
�����%a�*� (B) �������)�,
���r$�

(C) �
)�GR�.�
8 (D) ������
����
�
+J�

93. �
�D������
�����.��L�/+
�%
��%*

(A) �����
@�$ (B) ���
5B$�� (C) �X@$��
 (D) �����

94. �
I
����2013��,5l�"#$��U�b�����
��
��.
_��������,
�
��U�b��%*

(A) �����*� (B) �
�D
� (C) �
�U���
IU���
�5 (D) ^����

95. ����
��?
?M�
,P������
�
�)�����
+5���
5P����<��)
���)
���%&

(A) ?
?
��
9B$� (B) �
�8�,�?
?
 (C) �,�
�?
�<
,� (D) �G�
�%)
��

96. ?�8�������6����
�5����%
;�%*�c

(A) ���
5B$�� (B) ��� (C) �
�HF�.8�6 (D) �X@$��


97. �?%
������
������D�������,Q5����������<������������������/�
8
����-��?�F�-��
*�����
5J����Q7����+
�%*'(

(A) ���%� (B) ��?
�M� (C) �
�� (D) ���
�

98. ��D��DF%���������<
���+������	�+
����
��
��%*

(A) 2�R+
� (B) ��D�+
�

(C) ,
+�+
� (D) ���
� ����������
��5��%C

99. �
"BV$�+��9?
��M���+��J���<+
����������?F
�@$���?��@$��%*

(A) �^%8��̂ �%�H
��� (B) �
%a��R�,@$

(C) �,�
B$���
�%�� (D) ���
� ����������
��5��%C

100. 31��8��?��2013�������<
�����-�,
+�����
������D������L+
�%
�D�

(A) ������������?F
�� (B) ����
%


(C) ����,����
��� (D) ��������/+
D�
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SPACE  FOR  ROUGH  WORK
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5. (a) The circles, as described in 4 above, are to be darkened by using Blue/Black ball point pen only.

\��] ���
� ���F���4   ���?�
+��D+������
��D
������
��#�!�N
��!��>�O!�PQ���/��
�!&�Z
�
�%����D�
�%*'(

(b) The shading should be dark and should completely fill the circle.

\L] D
������
���MJ5T������<�
��,����D
�%
��
�2
�%�'(

(c)  Only one circle corresponding to the correct answer should be darkened as shown below :

\D] �%����
������9?�GH�����,������%��D
������
����D
�)
�
�2
�%��)*�
���2���8L
+
�D+
�%*��

Correct / �%� A B C D

Incorrect / D�� A B C D or A B C D or A B C D or A B C D

Incorrect / D�� A B C D or A B C D or A B C D or A B C D

(d) If more than one circle is darkened using Blue/Black ball point pen or if the response is marked in
any other manner or as shown in ‘‘Incorrect method’’ above, it shall be treated as wrong way of
marking.

\f$] +�8����������H���D
������
��#�!�N
��!��>�O!�PQ���/��
�!&������D
�)
+�D
�+
���
���������G+�.��
������0,
�E���
�8L
+��D+��D��������
�����j+ �����+
�)
+�D
��
������D������
���8+
�)
+�D
'(

6. Rough work must not be done on the OMR Answer Sheet. Free space provided in the question booklet
should only be used for this purpose.

������.��
����
���g2
���
����
�����������%C�����
�%*'(�������	
����
���
��������������L
���
0
��4$
�X@$��8+
�D+
�%*P����
�����g2
���
�������'(

7. ‘‘Bar Code’’ printed on the Answer Sheet must not be tampered or in any way marked; otherwise the
candidature will be rejected.
��
����������4$���>>?
����
�@$AA������������%���
���6
���
�8���?�
+��+
�������������%����,�!���������
*�����,�!���%
����8�
�G+0
����	
01���-��9��8,
����Y�����8��)
+�D�'(

8. Candidate must not leave any mark of identification on any part of the Answer Sheet except as asked on
the OMR Answer Sheet as this may lead to disqualification.

�9��8,
����
���
������
���\OMR]���
�����
���
�����M4$��D��������
,
���
�����
���
�����������<
D�����%2
������������<�
��6
����
���%C�4$
�X@$�
�2
�%�P������,%��+
��+�%
������
�%*'(

9. For verification of your handwriting, it is necessary to write the prescribed Text completely, which is
printed in Hindi on the OMR Sheet and also put your signature on specified space in Hindi and English
otherwise your answer sheet / candidature will be rejected.

�������L
,B$������/+
������� ���P���H
5�����
#$� �)����
������
����������� ^%8��������R�����+
�D+
�%*P������M�
� ��L�

�
,=+���%*��
*�����85"B$�
0
�����̂ %8���
*����DF�)����������%
�
	��<������P��G+0
��
���-���
�����
���
S�9��8,
����
,��!��
����8��)
�D��'(

10. In case you do not follow the instructions as given on the backside of OMR answer sheet, your answer
sheet is liable to be rejected for which you yourself will be fully responsible.

�D���
�����
������
���������
������������!"#$�<
D�����8+��D+����8[6
����
��
����%C����+
��
���
���
���
��������Y����+
�)

����
�%*��)����������
��
,+���MJ5�T��������
�8
+��%
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